Mig C200i

Pieces d'usure

Item | Denomination Ordering no. | Notes
A Gas nozzle 0700 200 054
Nozzle/Tip insulator MXL 0700 200 105
0700 200 063 W 0.6 M6x25
B Contact ti 0700 200 064 W 0.8 M6x25
ontact tip 0700 200 065 | W 0.9 M6x25
0700 200 066 W 1.0 M6x25
Nozzle spring 0700 200 078
Tip adaptor 0700 200 072 Left thread
Wire liner 0700 200 085 W 0.6-0.8 Steel for Fe and Ss wire
0700 200 087 W 0.9-1.2 Steel for Fe and Ss wire
E 0700 200 091 W 0.9-1.2 PTFE for Al and CuSi wire
O-ri O-ring 3.5/IDX 1.8 (3.5x1.8mm)
-fng Black nitrile rubber
F Feed roller 0349 311 890 W0.6/0.8 -1.0 V-groove
0349 312836 | WO0.6/0.8 V-groove -1.0 U-groove
G | Pressure roller 0349 312 062
H Inlet nozzle 0455 049 002 WO0.6-1.0

The rollers are marked with wire dimension in mm and inch.

bc22w

A

{ i

-22.

D

7

©ESAB AB2011



